
   
 

ZZR1200 HUGGER     Part # 073790 

 
Fitting kit: 

2 x M6 x 20mm button allen bolt    CBOL2165 

2 x M6 x 16mm button allen bolt    CBOL0123 

4 x M6 Nylon washer      CWAS0230 

4 x M6 s/steel washer      CWAS0201 

1 x Brake hose clip (remove rubber from clip, if fitted) CFIT0012 

 

Fitting instructions: 

 

Please note: park the motorcycle securely on level ground. DO NOT attempt to fit the hugger 

if the silencers are hot. 

 

To facilitate fitting of the hugger, remove the left side pillion foot rest hanger. 

 

Remove the original chain guard. 

Unbolt the forward (plastic) brake hose guide. 

Remove the steel brake hose clip. This is replaced with the clip provided. 

Carefully position the hugger. 

 

Do not fully tighten the bolts in the first instance. Use loctite or similar thread retaining 

compound on all fasteners. 

 

Secure to the chain guard mounts using the M6 x 16mm bolts with steel and nylon washers. 

Remove the screw from the forward (plastic) brake hose guide. Replace with an M6 x 20mm 

bolt with steel washer under the head. 

Important: position one nylon washer between the hose guide and the hugger, refit guide, 

securing the hugger. 

Fit the new hose clip using the M6 x 20mm bolt and steel washer, with a nylon washer 

between the clip and the hugger. 

 

Check hugger alignment before fully tightening all fasteners. 

 

Refit foot rest hanger. 

 

Please note: check hugger alignment and fasteners periodically. 

 

 

 

 


